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752 A= K& Rd1 Rd2 Rd3 Rd4_| point
CH = = 20 20 15 55
CH B Z_ 20 20
CH i K 20 20
CH ET Bidd 19 19
CH &b fiie 19 19
CH RE 27 15 15
CH N e 12 12
CH ] 12 12
CH BE B 10 10
CH e RE 8 8
CH E57 4 6 6
CH BRIS Z=al 4 4
DA - & Rd1 Rd2 Rd3 Rd4_| point
NT1150 AlkAl EF 20 20 20 10 70
NT1150 B F1E 19 19
NT1150 NGl Sa 19 19
NT1150 N & 15 15
NT1150 AL 5T 12 12
D72 - K& Rd1 Rd2 Rd3 Rd4_| point
NT1500 % Tif 20 10 19 15 64
NT1500 Al IEN 15 — 20 35
NT1500 A #llsh 20 20
DA - K& Rd1 Rd2 Rd3 Rd4_| point
NTF S SRAED 20 19 18 20 77
NTF =H 8% 15 13 15 12 55
NTF eSS 20 19 39
NTF L AT 12 11 10 33
NTF fE 2% 17 13 30
NTF FEK it 16 14 30
NTF Fard fi— 11 12 23
NTF /WA _IFEE 20 20
NTF iEH W 18 18
NTF EA JEE 17 17
NTF e B 16 16
NTF T= X 15 15
NTF TR gA 15 15
NTF EE WEX 14 14
NTF TR R 12 12
NTF Bs] 247 10 10
NTF S 10 10
X12H19H ok &fb :EFZ5(ETIE
D7 A= K& Rd1 Rd2 Rd3 Rd4_| point
NTR o Bl 20 19 15 54
NTR 2 #l5% 15 18 20 53
NTR B st 10 15 16 10 51
NTR EAES 20 20 40
NTR EE =D 19 18 37
NTR HE & 13 13 26
NTR AN A 15 8 23
NTR o2 8% 17 17
NTR 2% kik 17 17
NTR g 14 3 17
NTR AN SGEA 0 16 — 16
NTR BALL 03T 14 14
NTR AW iR 12 12
NTR = SiE 12 12
NTR =0 = 8 8
NTR Eg T 6 6
NTR A B — 4 4
NTR AL BE 2 2
NTR 15 =25 0 0
DA A= K& Rd1 Rd2 Rd3 Rd4_| point
NT4 LIE —10 20 20 15 55
NT4 e 15 19 20 54
NT4 B0 _f8Al 19 8 27
NT4 1A 20 20
NT4 A% fin 12 12
NT4 Hh 10 10
NT4 W _IEA 6 6
NT4 HE IFA 4 4
NT4 B 5 - -
DA A= K& Rd1 Rd2 Rd3 Rd4_| point
SC/D ESE L 20 10 12 42
SC/D IR fEE] 20 20
SC/D FIRX A 19 19
SC/D J\E [EAHRS 15 15
D7 A= K& Rd1 Rd2 Rd3 Rd4_| point
N-ONE N A1E 20 20 8 48
N-ONE AL W5 18 6 24
N-ONE T8 iR 20 20
N-ONE = = 19 19
N-ONE RE_F11 19 19
N-ONE AT 505 18 18
N-ONE R s 15 15
N-ONE =Y 12 12
N-ONE N 5 10 10
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